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Polygons

Name the quadrilaterals which make the statement true

1. Inevery _ PARALLELOGRAM RECTANG LE , Seale ,
and __R-HomMeu s the diagonals bisect each other.

2. Inevery  RECTAN (LE and SOUALE the diagonals are
congruent. L1505, TAE, T@E

3. Inevery #FHomdus and Sevker the diagonals bisect the angles.
4. In every SOLARE and EHoMBUS the diagonals are

perpendicular. (K ITE Too! )

5. Inevery S@Euane the diagonals are congruent, perpendicular, and also
bisect the angles.

6. In every rectangle, the opposite sides are both ParBLET- 2 and

CoN (RAET \ . The diagonals are = to each other but are not
necessarily PERPENDICULALILY, each other. The diagonals @I SECt+— each other. The |
angles are all __ @I+T  (90°) angles. A rectangle is also a __ PAR-AULELOGRAM,

s

7. In a rhombus, all four sides are = and the opposite sides are
7/ . The diagonals are — to each other and they
N
gistCT each other, but they are not always pre to each other. The

diagonals __ PISECT e angles of a thombus. A rhombus is also a __ PAR A 1 EL DEPAMN

e
8. In a square, all four sides are —_ and the opposite sides are #/
Rl i =
All four angles are HT angles. The diagonals are both - and
— to each other. They BlsgeT both each other and the

angles of the square. A square is also a _RHOmMpUS ,a__ RPECTANGUE ,and a
PAR-ALLELD (sZran '




o

Venn diagrams can be used to show the relationships among the various types of quadrilaterals. The
figure labeled U represents the set of all quadrilaterals. The circle labeled B represents the set of all
rectangles. The circle labeled F represents the set of all kites.
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Match each quadrilateral with the letter for the set in the diagram.

9. Trapezoids £ 10. Parallelograms A 11. Squares D 12. Rhombuses <

Shade each venn diagram and shade the given set.

13. The set of all quadrilaterals with at least one 14. The set of all parallelograms with
pair of parallel sides no right angles

15. The set of all rectangles that are 16. The set of all quadrilaterals that have
trapezoids no pairs of parallel sides




17. The set 51‘ all rectangiés whose diagonals

are not perpendicular

R

18. The set of all parallelograms whose
diagonals are not congruent

4

19. The set of all quadrilaterals whose diagonais

bisect each other

20. The set of all parallelograms whose
diagonals are perpendicular and congruent

NG
{ (. v, "

N

21. The measure of an exterior angie of a reguiar polygon is 12x —

o

6. The measure of a second

exterior angle of the same polygon is 8x + 6. Identify the polygon (how many sides)? DO CEeAlon)
12X~ =3xX+b vae:zee e B
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22. A regular polygon has obtuse exterior angles. How many sides does the p&i‘f@on have?

TRIANGLE - 2 si1Es 20 90 ZLp >9Dn
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23. Of the regular polygons with obtuse interior angles, which has the largest exterior angie?
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24. |s there & réqGUIEY polygon
figure to illustrate.
NES

12" ,
\kﬁfﬁ an interior angle congruent to an exterior angle? If so, draw a
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25. Can the sum of the angle measures of a polygon be any or all of the following: JUSTIFY YOUR

SOLUTION.

a. 10,180°
BO(N-2)= 10,180
~o !
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B. 18, 180° c. 15,660°
n-2= 10 n-2= 3+
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26. The star is formed by extending the sides of a regular pentagon. Find the m £ 1 using the given
information.,

B8O = T2z +32 +>
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27. The sum of the measures of four angles of a pentagon is 498°. What is the measure of the
unknown angle?
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28. The sum of the measures of nine angles of a decagon (10 sides) is 1,320°. What is the measure
of the unknown angle?

L1B0(n-2), 150 (B = MY4O
180 (n-22 o
t 20°

29. Three angles of a hexagon are congruent. The other three angles are also congruent. Each of
the first three angles has a measure twice that of one of the second three angles. ‘What is the

measure of each angle of the hexagon? Xz m ore of one ob
\%OC_(Q’?’); 150 (4> :7'20 e second AH¥ <
Ax = measure, ot one obfre
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o + D% = F20 = B0
30. In a pentagon, the measure of one angle is twice that of a second angle. The remaining angles
are congruent, each having a measure three times that of the second angle. What is the measure of
each angle of thﬁ\fentagon?

X +25¢ 33X+ By +23 = GYa®
2% = SuUpe
x = 45
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31. ABCDE is a regular pentagon and ABXY is a rectangle. Find

A ms1z1B° B. ms2 =3’ C. mz3= \8&
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